

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$38 + 9 = \boxed{}$$

1^{ère} étape $38 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$25 + 9 = \boxed{}$$

1^{ère} étape $25 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$57 + 9 = \boxed{}$$

1^{ère} étape $57 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$14 + 9 = \boxed{}$$

1^{ère} étape $14 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$42 + 9 = \boxed{}$$

1^{ère} étape $42 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$76 + 9 = \boxed{}$$

1^{ère} étape $76 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$93 + 9 = \boxed{}$$

1^{ère} étape $93 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$61 + 9 = \boxed{}$$

1^{ère} étape $61 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$15 + 9 = \boxed{}$$

1^{ère} étape $15 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$87 + 9 = \boxed{}$$

1^{ère} étape $87 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$68 + 9 = \boxed{}$$

1^{ère} étape $68 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$24 + 9 = \boxed{}$$

1^{ère} étape $24 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$79 + 9 = \boxed{}$$

1^{ère} étape $79 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$94 + 9 = \boxed{}$$

1^{ère} étape $94 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$36 + 9 = \boxed{}$$

1^{ère} étape $36 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$85 + 9 = \boxed{}$$

1^{ère} étape $85 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$48 + 9 = \boxed{}$$

1^{ère} étape $48 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$13 + 9 = \boxed{}$$

1^{ère} étape $13 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$51 + 9 = \boxed{}$$

1^{ère} étape $51 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$47 + 9 = \boxed{}$$

1^{ère} étape $47 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$29 + 9 = \boxed{}$$

1^{ère} étape $29 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$38 + 9 = \boxed{}$$

1^{ère} étape $38 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$56 + 9 = \boxed{}$$

1^{ère} étape $56 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$62 + 9 = \boxed{}$$

1^{ère} étape $62 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$26 + 9 = \boxed{}$$

1^{ère} étape $26 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$73 + 9 = \boxed{}$$

1^{ère} étape $73 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$61 + 9 = \boxed{}$$

1^{ère} étape $61 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$57 + 9 = \boxed{}$$

1^{ère} étape $57 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$72 + 9 = \boxed{}$$

1^{ère} étape $72 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$32 + 9 = \boxed{}$$

1^{ère} étape $32 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$89 + 9 = \boxed{}$$

1^{ère} étape $89 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$94 + 9 = \boxed{}$$

1^{ère} étape $94 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$18 + 9 = \boxed{}$$

1^{ère} étape $18 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Ajouter 9



Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$43 + 9 = \boxed{}$$

1^{ère} étape $43 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$91 + 9 = \boxed{}$$

1^{ère} étape $91 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$

Pour ajouter 9, j'ajoute d'abord 10 puis j'enlève 1.

$$65 + 9 = \boxed{}$$

1^{ère} étape $65 + 10 = \boxed{}$

2^{ème} étape $\boxed{} - 1 = \boxed{}$